
AMÖv‡bvMÖvg 
Uz¨wi÷ cywjk, Lyjbv wiwRqb| 

 
cywjk mycvi 
Lyjbv wiwRqb 

me©‡gvU=172 Rb 

AwZwi³ cywjk mycvi 
Lyjbv wiwRqb 

1 x cywjk mycvi 
1 x cywjk cwi`k©K(wbt) 
1 x GmAvB(wbt) 
2 x GGmAvB(wbt) 
3 x Kb‡÷ej 
‡gvU= 8 Rb 

1 x  AwZt cywjk mycvi  
1 x GGmAvB(wbt) 
2 x Kb‡÷ej 
‡gvU= 4 Rb 
 

Lyjbv †Rvb 
1 x cywjk cwi`k©K(wbt) 
3 x GmAvB(wbt) 
5 x GGmAvB(wbt)  
1 x bv‡qK 
9 x Kb‡÷ej 
1 x KyK 
 
 
 

‡gvU= 20 Rb 
 

my›`ieb  †Rvb 
1 x mnKvix cywjk mycvi 
2 x cywjk cwi`k©K(wbt) 
5 x GmAvB(wbt) 
8 x GGmAvB(wbt) 
2 x bv‡qK 
20 x Kb‡÷ej 
1 x KyK 
1 x wK¬bvi 
 

‡gvU= 40 Rb 
 

ev‡MinvU †Rvb 
 

1 x cywjk cwi`k©K(wbt) 
4 x GmAvB(wbt) 
5 x GGmAvB(wbt) 
1 x bv‡qK 
9 x Kb‡÷ej 
1 x KyK 
 

 
‡gvU= 21 Rb 
 

mvZÿxiv †Rvb 
1 x cywjk cwi`k©K(wbt) 
4 x GmAvB(wbt) 
4 x GGmAvB(wbt) 
1 x bv‡qK 
9 x Kb‡÷ej 
1 x wK¬bvi 
 

 
‡gvU= 20 Rb 
 

Uzw½cvov †Rvb 
1 x cywjk cwi`k©K(wbt) 
4 x GmAvB(wbt) 
5 x GGmAvB(wbt) 
1 x bv‡qK 
9 x Kb‡÷ej 
1 x wK¬bvi 
 

 
‡gvU= 21 Rb 
 

‡g‡nicyi †Rvb 
1 x cywjk cwi`k©K(wbt) 
4 x GmAvB(wbt) 
5 x GGmAvB(wbt) 
1 x bv‡qK 
8 x Kb‡÷ej 
1 x KyK 
 

 
‡gvU= 20 Rb 
 

Kzwóqv †Rvb 
1 x cywjk cwi`k©K(wbt) 
4 x GmAvB(wbt) 
4 x GGmAvB(wbt) 
1 x bv‡qK 
7 x Kb‡÷ej 
1 x wK¬bvi 
 

 
‡gvU= 18 Rb 
 


